Short Division Without Remainders

Complete the calculations below.
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Short Division Without Remainders

11. A factory packs 5232 cans of beans into 8 crates. How many cans will be in each crate?

12, Giles plans to cycle a distance of 1098 miles for charity. He decides to split the journey
equally over 9 days. How many miles will he need to travel each day to reach his target?
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13. 6713 seven-year-old children in a town near Liverpool are allocated one of 7 schools. If
the children are split amongst the schools equally, how many children will go to each school?
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14, Charlie has £8652 in savings. He decides to put the money in 4 different savings accounts.
How much money will he put in each account?




